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I. BEDI
1. RIEE
REEE 2,328,501 1,290,809 1,037,692
mEBESST (A) 2,328,501 1,290,809 1,037,692
2. BE8BE
(1) EXREIE
TEHRYEE 86,300,000 90,300,000 A 4,000,000
BEARBESST (B) 86,300,000 90,300,000 A 4,000,000
(2) BEEE
E1/785 300,000 100,000 200,000
IBEEESET (C) 300,000 100,000 200,000
(3) ZooE@TEE
Ak 280,720 0 280,720
BIHEKE 271,036 271,036 0
He8iE5R 1,318125 1,231,225 86,900
BIMERIRETEE A 1,531,200 A 1,502,233 A 28967
SEENOAE 80,800 80,800 0
Ut D)8t E 9,480 9,480 0
ZOHMOEESESST (D) 428,961 90,308 338653
BE&ESST (B+C+D=E) 87,028,961 90,490,308 A 3461,347
BESET (A+E=F) 89,357,462 91,781,117 A 2,423,655
I. aEngl
1. REas
Kihw 90,684 1,935 88,749
KINER 217,095 130,348 86,747
SEE 223,000 130,000 93,000
JBOE A 69,310 42,744 A 112,054
meaEssit (G) 461,469 305,027 156,442
aEs5 (G=H) 461,469 305,027 156,442
II. 1ECREAEEDEL
1. IBEIECRBIE 0 0 0
IBREIECREBAESET (1) 0 0 0
2. —BRIEGEE(F-H=J) 88,895,993 91,476,090 A 2,580,097
(OBERAHENDTTHEE) (86,300,000)| (90,300,000) (A 4,000,000)
(OBBETEEENDTTHEE) (300,000) (100,000) (200,000)
EREESET (| +J=K) 88,895,993 91,476,090 A 2,580,097
BENMUEKREESET (H+K) 89,357,462 91,781,117 A 2423655
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